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>>> go(100)
>>> turn(-90)
>>> width(1l)
>>> go(100)
>>> width (50)
>>> go(100)
>>> reset()

>>> |
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2) go(50) &= - 508 2|l
3) turn(90) » LEZ O 90° =t
4) invisible() = 7{20|(ZHAM) Z4=7|

>>> go (100)

>>> width (50)

>>> go(100)

>>> reset()

>>> go(50)

>>> turn(90) i

>>> invisible () g-
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@ invisible() = HEO°|(HA) Z

5) go(100) - 10022 =%l
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6) visible() ~ 7{50|(Z1A]) 20|7|

>>> go (100)

>>> reset()

>>> go (50)

>>> turn (90)
>>> invisible ()
>>> go(100)

>>> isible ()

LEVEL 2

® visible() = HE0|(FHA]) Ho|7|
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7) turn(90) » LEZOZ 90° Fgt
8) pen_up() 2=
9) go(100) — 10082 =IZI

>> turn(90)

>>> invisible ()
>>> go (100)
>>> visible()
>>> turn(90)
>>> pen_up()
>>> go(100)

>>> |
LEVEL 2
@ go(100) — 1002+ XXl

10) turn(90) » LEZ o= 90° Mgt
11) go(50) - 5022 X%l

12) pen_down()

13) go(50) — 5022 =%

14) clear() —» J2I0F X|R7|

15) go(100) - 10022 X|7|



